DU MPhil Phd in Philosophy

Topic:- PHIL MPHIL S2

1) Which among the following statements is not true about Mill’s concept of Utilitarian morality?

FuBrarard] siftraoa @ an i BesiféBaa oerel 3 31 @ior 21 38 8 87

[Question ID = 9616]
1. It recognizes the power of sacrificing in human beings for greater good. / =1z #mm # sty 31 affs 9 © B c1er ot & gffs o ugaerm £ [Option 1D =

38458]
2. Any sacrifice which does not augment happiness is wasted. / @i st e 5it 20 ot aern &, ag wref & [Option ID = 38459]
It admits that sacrifice is a virtue in itself. / @& adioor @ & B caer amat amu 3 v o & [Option 1D = 38460]
4, It advocates self-renunciation which leads to happiness. / =g sdta o 3 o oz & s caer ana ama # vas sgem & [Option 1D = 38461

Lt

Correct Answer :-
® |t admits that sacrifice is a virtue in itself. / =g sdtone oxn & By cemer anat ang 3 v apr & [Option 1D = 38460]

2) According to the relativist, ethical theory is not a relevant method for moral practice because

Aeradl i 3 sifere Rigia sifere oura & e suygem guiell oréf 2 a=ifes -
[Question ID = 9617]
1. Of the presence of non-compatibilism / 3t avwrurermiesa #tgs & [Option ID = 38462

2. Moral values are absolute / siferr e e & [Option 1D = 38463)
3. These do not acknowledge moral diversity / @ siftre @ifern ot s @@t s & [Option 1D = 38464
4. The existence of morality itself is questionable / aiférasen a1 af3erca & 2iféau & [Option ID = 38465]

Correct Answer :-
e These do not acknowledge moral diversity / & siferas fafdeen ot sdtare aidf asa & [Option 1D = 38464]

3) According to David Hume, the relation from which moral distinctions arise lies

s & o s, G sidel A siferas e segea 8 &

[Question ID = 9618]

In the transcendental realm / ag uweilfsrs &g 3 smfFem @@ & [Option 1D = 38466]

In the realm of internal action / sty fen © orER & safder 20 & [Option 1D = 38467)

In the realm of external objects / aigH await @ srl # smfFers &9 & [Option 1D = 38468]

In the realm between internal action and external objects / iy fmn s asdt aeqaii o dia @ orR # saffem @0 & [Option 1D = 38469]

B L L

Correct Answer ;-
® |n the realm of external objects / madt axgail o arl & safiea 80 & [Option |D = 38468)

4) Which kind of Euthanasia can patients seek via living will in India?

HId 3 53 gon @ scgey & ader afta siféea scoofe @ aeaa A a2 woa 87

[Question ID = 9619]

1. Passive Euthanasia / faiftaz scewpeg [Option 1D = 38470]

2. Active Euthanasia / =fds sewmgeg [Option 1D = 38471]

3. Non voluntary Euthanasia / iz Fifema seemeyg [Option ID = 38472]
4, Involuntary Euthanasia / smcifes® seomEpeg [Option ID = 38473]

Correct Answer :-
® Passive Euthanasia / faftayr scomee [Option ID = 38470]

5) Apartheid in South Africa was :

cfdmor st 3 ararels (31-9ic )

[Question ID = 9620]

Legal but not moral / @it cifdsa sifvr st en [Option |D = 38474]
Neither legal nor moral / a1 @apl afts & &1 &fers en [Option ID = 38475]
Both legal and moral / @it vd slfer Steil en [Option 1D = 38476]
Moral but not legal / siffre oiffser el sl en [Option |D = 38477]

B =

Correct Answer :-
e Legal but not moral / wEEl Aftce siftre ot en [Option 1D = 38474]

6) Meta ethics is concerned with questions such as :

Jie=McH oiferepar (metaethics) s aws s A Rifaa & Si -
[Question ID = 9621]
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What is the criterion of moral conduct? / diféres amaun &1 wan asiie] aen &7 [Option ID = 38478]
Are there moral facts? / @en @iféres e &7 [Option |ID = 38479]

What ought | to do? / 351 @=n @swon @nigu? [Option 1D = 38480]
What are the moral standards regulating right and wrong conduct? / @ siferes smers @ aflz s anaem @ Brifda ol 87 [Option 1D = 38481]

P s

Correct Answer :-
® Are there moral facts? / @en difers ae=r &7 [Option 1D = 38479]

7) Committing the naturalistic fallacy implies :

URDIeRD <9 @3l @I ARl 8:

[Question ID = 9622]

1. Mistaking good as synthetic / g @) RBidfees & wu 3 Jwsen st 2 [Option 1D = 38482)

2. Reducing nature to the other / yesfer @1 o213 3 aeren [Option 1D = 38483]

3. Reducing ethical terms to natural is a mistake / dlferes ol @) grapferes & aeron srerdl & [Option 1D = 38484)

4. Misunderstanding nature’s capacity to renew itself / ymiel &1 a1 @1 ordieliasd @eal &1 sretawesit [Option ID = 38485]

Correct Answer :-
® Reducing ethical terms to natural is a mistake / siferas ol @1 yrepfers # aeren st & [Option |D = 38484)

8) Which of the following cannot be ascribed to Aristotle :

forgatferi3an 31 A b3 zeqg @ o Gifdee ol fsen s e 87

[Question ID = 9623]

1. Final good for human beings must be pursued for its own sake / #aper @ aifda gy a1 uretsr Waet g @ fém aszen aifde [Option ID = 38486)
2. The happy life involves the exercise of reason / it Sftast 3 fade o1 aweny gl 2 [Option ID = 38487]

3. Akrasia or internal harmony underlies the exercise of virtues / ameprf3rn =n atiaf¥s sga sgull @ awens &t offa & [Option ID = 38488]

4. Virtue is an intermediate state between two excesses / siiane & aferl & dta ves szl srmzen & [Option 1D = 38489]

Correct Answer :-
e Akrasia or internal harmony underlies the exercise of virtues / sepRBRN 20 siaf¥® Jg@ Jguil @ e &t offa & [Option ID = 38488]

9) Niskama karma of Gita is followed by

aftrr 3t forcarar @it @ Frer Arer 2 -

[Question ID = 9624]
1. Loka Samgraha / eivpsiegs

[Option ID = 38490]
2. Advaita / ada

[Option ID = 38491)
3. Yoga / =i

[Option ID = 38492]
4. Bhakti / wfp

[Option ID = 38493]

Correct Answer :-
® [oka Sameraha | dxnseg
[Option ID = 38490]

10) Biocentrism as an ethical theory includes :

sitadsdaar v difre Bigia & wu af enficr ol &
[Question ID = 9625]

1. Only human beings / @ae #igeer [Option ID = 38494)

2. Human beings and animals / #ap afiz uy) [Option ID = 38495]

3. Animals and plants / ay 3fiz diet [Option ID = 38496]

4. Human beings, animals, plants and ecosystems / amfer, gy, diel afis mBfederebt o [Option 1D = 38497

Correct Answer :-
o Animals and plants / gy site dift [Option ID = 38496]

11) As per Bernard Williams, the features of utilitarianism are

galfs faftrea @ e, Fwikamare &t Ridaaw

[Question ID = 9626]

It is transcendental / =z arfifogar & [Option 1D = 38498

It is committed to the concept of negative responsibility / az arpracsa snsafca & armoeon o fém gffag & [Option 1D = 38499]
Empirical calculation of consequences is not possible / ufduret @1 acrasio snesera sista oidl & [Option D = 38500]

The consequences in Utilitarianism can be calculated on a common currency / suelfdreners 3 ufvr &1 el e I lasersl @

[Option ID = 38501]

B Y

z ol o FEmdl &
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Correct Answer :-
e Empirical calculation of consequences is not possible / uf¥umil @1 oS Jeserel 3o oidl & [Option ID = 38500]

12) According to egoistic hedonism moral worth of an action is decided by

ygar Esifsisa & e siftre sieis feard @ a= fReen smen &:

[Question ID = 9627]

1. Pleasure of the individual / safés &t yawern [Option ID = 38502)

2. Utility of action / st &5t su=tisen [Option 1D = 38503]

3. Greatest happiness of greatest number / @31 agt e & i &1 Jad) asl sl [Option ID = 38504]
4. Intention of the agent / wake @ szra1 [Option |D = 38505]

Correct Answer :-
® Pleasure of the individual / wfés &1 gereeen [Option ID = 38502]

13) According to Kant, moral worth of an action is to be evaluated based on the:

@ic @ oA, DI D olfcrd FeAa BT Jodibol Kb MLMR Uz Ko=n aien arfdu:

[Question ID = 9628]

1. Consequence of action / st a1 ufdvna [Option 1D = 38506]

2. Intention of the agent / wsic @1 11 [Option |D = 38507]

3. Utility of the action / ast &t su=ittsin [Option ID = 38508]

4. Means taken to arrive at the end / ufdvie aas ugaa @ féren srn 2mesr [Option 1D = 38509]

Correct Answer :-
e |ntention of the agent / wSke @ g2t [Option ID = 38507]

14) Which one of the following cannot be considered under Physical Evil:

foraaiferfiac 3 A [pA grepfere siora ($feer) & asa oél aren st Awar 87
[Question ID = 9629]

Floods / @ [Option ID = 38510]

Diseases / 31 [Option ID = 38511]

Cowardice / wrrar [Option ID = 38512]

Bodily deformities / omdti¥s fapfir [Option ID = 38513]

bt ) =

Correct Answer :-
e Cowardice / arn [Option 1D = 38512

15) It is a chief feature of pragmatism that:

ug cageliyaal &l v gy g 2 o -

[Question ID = 9630]

Metaphysics is nonsense / wreitaRT aavara & [Option 1D = 38514]

Epistemology is a part of science / smeriiaizn fsma @1 vas f2sem 2 [Option ID = 38515]
Metaphysics has practical implications / wasitarian @ wpasit¥e fafdme! & [Option ID = 38516]
Atheism should be rejected / anfderson a0t amfdsr fven swen aifde [Option ID = 38517]

A d B =

Correct Answer :-
& Metaphysics has practical implications / mwasttaizn o wenaatyas farfdomet & [Option 1D = 38516]

16) For Searle, a computational program explains:

Hel & fée, v TIRR96Id orRiaH ol avia 3:

[Question ID = 9631]
1. No functionality / @t arlsmme o &

[Option ID = 38518]
2. No understanding / @0 e aidl

[Option ID = 38519]
3. Wisdom / gigae

[Option ID = 38520]
4, Intentionality / Sanfsan

[Option ID = 38521]

Correct Answer :-
& No understanding / @i s ol

[Option ID = 38519]

17) Mental states can be realized by any kind of body is a position held by
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Areif¥res srazensil @l ol oft s @ ol @1 ey fpan s Awar 8, U8 e o1 Axfla fear s 2:
[Question ID = 9632]

Eliminativists / spmanedt [Option 1D = 38522]

Behaviourists / wyasraidt [Option ID = 38523]

Functionalists / fzeamardt [Option |D = 38524]

Substance dualists / uerel-Zorandl [Option ID = 38525]

Lt B =

Correct Answer :-
e Functionalists / semardl [Option ID = 38524]

18) Russell’s theory of descriptions has

e @& Razor @1 Bigie:

[Question ID = 9633]
1. Only metaphysical implications / @5 amelimBe g s=wm 8

[Option ID = 38526]
2. Only epistemological implications / a@¥ae soeRlisnies g s 2
[Option ID = 38527]
3. Both metaphysical and epistemological implications / Geil armefimbnr e sreetimtas g sawm 2

[Option ID = 38528]
4. Neither metaphysical nor epistemological implications / &1 o areefiani3es o & sopilwifes garea s 8

[Option ID = 38529]

Correct Answer ;-
e Both metaphysical and epistemological implications / il arastiantdes afe sestai3nm gana 2 8
[Option ID = 38528)

19) The fact that the length of the shadow cannot explain the height of the pole that throws the shadow shows that

B &l cidrd BRI @l Babol drdl &¢d bl Haurs DI AR ofdl Al 8, A gollar 3 b -

[Question ID = 9634]

1. Explanations have a direction / susdlosam ot v fen & [Option 1D = 38530]
2. Laws have a direction / fafé &t oo fen gt & [Option 1D = 38531]

3. Facts have a direction / reeli &5 v fgen gkt & [Option 1D = 38532]

4. Deduction has a direction / anfédes yzama &t wes f&en 3 [Option 1D = 38533)

Correct Answer :-
e Explanations have a direction / sueiasau &1 vas f@en & [Option ID = 38530]

20) For Kripke, the identity statement Hesperus is Phosphorus is

feouas & feru, usarel were "gPuId GIEBRA 8

[Question ID = 9635]

1. An analytic statement / v feraSavnears awmar & [Option 1D = 38534]

2. An analytic aposteriori statement / s RAeduunce aemer & B e g aifde [Option 1D = 38535]
3. A contingent statement / vas smf3aes e & [Option 1D = 38536]

4, A necessary aposteriori statement / va arforaef aoven & B fén argwa amifde [Option ID = 38537]

Correct Answer :-
® A necessary aposteriori statement / ves arforanef avre & e féo s afze [Option ID = 38537]

21) The substance is spoken of by Aristotle in Metaphysics as

aerel sF @ derfbforaan 3 1 yonr dian s 2:

[Question ID = 9636]
1. What being is for that thing / 31 s @ ffw sf¥aa am &

[Option ID = 38538
2. What being is not for that thing / 7= dia & B af¥aca oen @idf &

[Option ID = 38539]
3. What underlies that thing / as 3t 331 dter @5 offa 72w &

[Option ID = 38540]
4. Its universal / seE Fdsiities

[Option ID = 38541]

Correct Answer :-
& What being is for that thing / 3z dis @ fw afrma oo &
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[Option ID = 38538]

22) The actuality for Aristotle is prior to potentiality in respect of

32 @ fere arfaean o Hder A e A usd 2

[Question ID = 9637]

Being invisible / sgw gem [Option 1D = 38542]

Substance / uart [Option ID = 38543]

Being static / f3u &lenn [Option ID = 38544]

Both invisible and static / aesa iz e Sial [Option 1D = 38545]

B bd R —

Correct Answer :-
e Substance / ugief [Option ID = 38543)

23) If P and Q are both False, then which of the following statements is true

afe P afiz Q Sl srwea &, M lrsifeiRaa asereil 3 2 @ia A1 Jc 8

[Question ID = 9638]

1. P & Q / P siiz Q [Option ID = 38546]

2. P2 Q /P D Q[Option ID = 38547]

3. -Pand Q/ - P 3fiz Q [Option ID = 38548]
4, PvQ/ Pv Q[Option ID = 38549]

Correct Answer :-
e PO Q /P2 Q[OptionID = 38547]

24) “Some snakes are poisonous” is to be translated in logic as

" A sisdd 81 ' a1 aifbas srefare &

[Question ID = 9639]
1. (x) (5x D Px)

[Option ID = 38550]
2. 3xSx & Px

[Option ID = 38551]
3. IxSx &-Px

[Option ID = 38552]
4, (%) (Px D Sx)

[Option ID = 38553]

Correct Answer :-
® JxS5x & Px

[Option 1D = 38551]

25) - (P & Q) is logically equivalent to

- (P & Q) mfédas wu A sHD AN 8:
[Question ID = 9640]

1. P=Q/ P=Q [Option ID = 38554]

2. PD>Q/P > Q|[Option ID = 38555]

3. -Pv-Q/ - P v-Q [Option ID = 38556]
4, PorQ/ Por Q[Option ID = 38557]

Correct Answer :-
e -Pv-Q/-Pv-Q[Option ID = 38556]

26) “Planets are spherical” is to be translated as

"6 allenep1z BId 8" @l aifdde e 3:
[Question ID = 9641]

1. IxPx & Sx / I xPx & Sx [Option ID = 38558]

2. (%) (Px 2 Sx) / (x) (Px D 5x) [Option ID = 38559]
3. (%) (5x 2 Px) / (x) (5x D Px) [Option ID = 38560]
4, (x) (Px & Sx) / (x) (Px & Sx) [Option ID = 38561]

Correct Answer :-

® (x) (Px 2 Sx) / (x) (Px D Sx) [Option ID = 38559]

27) If modal realism about possibilities is true then possible worlds are
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afe sivrasnai @ an 3 W Raga awelare s & o ziva gforn &

[Question ID = 9642]

1. Non-existent entities / 3> f&emma azqu [Option ID = 38561]
2. Physical entities / siffers azqe [Option 1D = 38563]

3. Abstract entities / 2 sl [Option 1D = 38564]

4, Sets of propositions / gzmi @ 3 [Option 1D = 38565]

Correct Answer ;-
® Physical entities / siffern asae [Option 1D = 38563]

28) The political philosophy of Ambedkar is based on the principles of

IFASDm: @I Weloitierw gofar ___ Bigial uz amenfya & :

[Question ID = 9643]

1. Educate, agitate, organize / f3ifdr asson, 3aifrr asvon, seifda asson [Option 1D = 38566]
2. Equality, liberty and fraternity / swnwicr, Faddgen sfiz dgea [Option ID = 38567]

3. Classless society and socialism / aeiitior mst sftz swmemare [Option 1D = 38568]

4. Brahmanism and capitalism / gremres siz goftars [Option ID = 38569]

Correct Answer :-
e Equality, liberty and fraternity / smmerm, o 3w agea [Option 1D = 38567]

29) Which one of the following is not a part of the triple path prescribed by Buddhism

forserferfaea & 3 wiar dig et o Frediya fea v o1 By &8 &

[Question ID = 9644]
1. Prajfia / gzu
[Option ID = 38570]

2. Jnana ! sm=

[Option ID = 38571]
3. Sila / diter

[Option ID = 38572]
4. Samadhi / FemfEr

[Option ID = 38573]
Correct Answer :-
e Jhiana / smer

[Option ID = 38571]

30) Who among the following considered the theory of karma and rebirth as dogmas of Indian philosophy?

forsarferfiara 3 21 Rparor asdt @ Bigia siiv gorsion a1 sl cofor w1 sotfdfar (Sieren) smen &:

[Question ID = 9645]
1. Dayakrishna / e

[Option ID = 38574]
2. Radhakrishnan / smmegorar

[Option ID = 38575]
3. J. Krishnamurti / 51 ayomgfef

[Option ID = 38576]
4, Surendranath Dasgupta / y¥gane oraepn

[Option ID = 38577]

Correct Answer :-
e Surendranath Dasgupta / s¥gome orEE

[Option ID = 38577

31) Which of the Indian philosophical tradition is critical about Vedic Brahminism?

dfew grsmrae @ ar #F oiar Al et greifors a3uwn srelaeeaa &;

[Question ID = 9646]
1. Sramana tradition / gpmr wiua

[Option ID = 38578]
2. Sruti tradition / gffér v

[Option ID = 38579]
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3. Smrti tradition / sy usua

[Option ID = 38580]
4, Navya Nyaya tradition / e s=mT waua

[Option ID = 38581]
Correct Answer :-
e Sramana tradition / gp waa

[Option ID = 38578]

32) The Pidrva-Mimamsakas believe in which one of the following:

yd- sfianeew forrar 3 31 far 3 frany @ &

[Question ID = 9647]

1. Paratah Pramdnayvada and Paratah Apramanyavada / usi: gomine=rs i a1 @&

[Option ID = 38582]
2. Svatah Pramanyavada and Paratah Apramanyavdda / sam: qoEeg 32 UsT: SvETerG

[Option ID = 38583]
3. Paratah Pramanyavada and Svatah Apramanyavdada / ust: qupmmars 307 Fad; Sgome-TG

[Option ID = 38584)
4, Svatah Pramdnyavdda and Svatah Apramdnyavada / s gommssins 32 s qumsiseag

[Option ID = 38585]

Correct Answer :-

s Svatah Pramanyavada and Paratah Apramanyavada / om0 qo@eeg a2 UHT: SgomeTas
[Option ID = 38583]

33) Consider the following statements with respect to Samkhya, mark the incorrect statement

iz © dHaer A oerftifBaa ooel ur B o3, siaa oore o Rifga a3

[Question ID = 9648]
1. All experience is full of sorrow / s are(ara g 31 a1 & [Option ID = 38586]

2. The suffering will continue as long as the citta and purusa are associated / g1 da & S 3890 5 a@ @5 R afi g g2 72 [Option 1D = 38587]

3. In the state of kevala, all samskara and avidya is uprooted / oae @t Befer #, it sizor v affer sams @Be i & [Option 1D = 38588)
4, The state of kevala implies non-distinction of prakrti and purusa / @aer o5t srawen o aruet &, yaofer i gea @ sie-@tg [Option 1D = 38589]

Correct Answer :-
® The state of kevala implies non-distinction of prakrti and purusa / @as &t sazen o arrwet &, yapfey sfie yesa @ ste-atg [Option 1D = 38589]

34) Match the following vrttis of the citta and mark the correct code

List | List Il
I. Ksipta A. One-pointed
Il. Pramudha B. Ignorant
lll. Viksipta C. Unsteady
IV. Ekagara D. Wild

Choose the correct answer from the options given below:

foret &t afer & s BraifeRaa o1 Brarer @3 iz 38 ®1s sifva o3

et I et IT
L. farm [Atzusmru:r
1L yas —
T11. fafém C. ufters
V. o) r:qqnga

[Question ID = 9649]
1. 1-D,I-B,-C, IV-A

[Option ID = 38590]
2l -8 =AW -D

[Option ID = 38591]
3. 1-C,Il-A ll-B,IV-D

[Option ID = 38592]
4, 1-B,1l-A, I-C,IV-D
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[Option ID = 38593

Correct Answer :-
e |-D,II-B,I-C,IV-A

[Option ID = 38590]

35) Which one of the khyativada is accepted by Vaisesika system?

A9 A BRI A Tl @il AT 3

[Question ID = 9650]
1. Anyathdkhyati / sreerenzontir

[Option ID = 38594]
2. Akhyati [ areenier

[Option ID = 38595]
3. Atmakhdti / sweszenfiy

[Option ID = 38596]
4, Asatkhyati | srcsenf

[Option ID = 38597

Correct Answer :-
e Anyathakhyati / siweensnie
[Option ID = 38594]

36) Choose the correct order of the stages of life according to pratityasamutpada of Buddhism:

dig el @ yritceraarure @ ez Sfias @ @evil @1 w1d aa go:

[Question ID = 9651]
1. Bhava, Vedand, Tanha and Upaddna / s, doon, doar iz surers

[Option ID = 38598]
2. Bhava, Tanha, Vedand, and Upddana / wa, el dgar, 3 Juem

[Option ID = 38599]
3. Bhava, Upadana, Tanhda, and Vedand / wa, 3ura, doel, iz dga

[Option ID = 38600]
4. Bhava, Vedanad, Updddna and Tanhd / wa, Agen, Imer i doat

[Option 1D = 38601]

Correct Answer :-
e Bhava, Upadana, Tanha, and Vedand / wa, 3ureia, doal, 3l dad

[Option ID = 38600]

37) Consider the following statements with reference to the schools of Vedanta and mark the correct code

(i) Samkara accepted nirguna Brahman and rejected saguna Brahman
(ii) Samkara and Ramanuja accepted saguna Brahman

(iii) Samkara accepted both saguna and nirguna Brahman

(iv) Samkara and Ramanuja both rejected nirguna Brahman

deia @ @l @ e I FraftiRaa weel ur far @3 iz 3@ o o [ifta «3

(1) oz of Grajor grsr @ Fdlor B 3iiz Je1u1 grsmn o srdion o R
(i) oimpz 3iiz FAIGISl of BT GIavT @l FdlioR fsen

(iii) oicoz of =T 3fiz forjur grewT <6l ol Fdior Rem

(iv) o2 3iiz @Gl Sloil of foPfor grEwT @1 aRdioR o G

[Question ID = 9652]

Only (i) is true / @ae (i) swe & [Option 1D = 38602]

Only (i) and (iv) are true / @aer (i) afiz (iv) 2= & [Option ID = 38603]

. Only (ii} and (iii) are true / @aet (i) aftz (iii) 20 & [Option ID = 38604]

Only (iii) and (iv) are true / et (iii) aftz (iv) a1 & [Option ID = 38605]

o bt P —

Correct Answer :-
e Only (ii) and (iii) are true / e (ii) iz (iii) s & [Option 1D = 38604]

38) Which one of the following statements is true with regard to theory of causation of Vedanta?
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dcia @ v @ Birgia o d49 A oeafdiBaa & A oia a1 ooe aca 8

[Question ID = 9653]
1. Vivartavdda is compatible with drambhaviada / Freadars s @ A1 396 8

[Option ID = 38606]
2. Vivartavdda is incompatible with satkaryavida / Fraddars serertore o ane aden &

[Option ID = 38607]
3. Satkaryavada is incompatible with parinamavada / wcreorelans abvimmee @ w1 3EE 8

[Option ID = 38608)]
4, Vivartavdda is compatible with satkaryavdda / Rradare srrorfare o sme s &

[Option ID = 38609]

Correct Answer :-
e Vivartavada is compatible with satkaryavada / Fradare smarag & smer Fer 2

[Option ID = 38609]

39) Who among the following believes that “The nation is the greatest evil for the Nation.”?

forFaifeifiaa & 2 @wia smoren & v "aeg 8 g, @ 0 wad adt gus &7
[Question ID = 9654]

1. Ambedkar / spasa@z [Option 1D = 38610]

2. Tagore / #sitz [Option ID = 38611]

3. Gandhi / smzlt [Option ID = 38612]

4, Aurobindo / apfE [Option ID = 38613]

Correct Answer ;-
& Tagore / Paitz [Option ID = 38611]

40) In the 6th Chapter of the Chandogya Upanisad ‘Thou Art That’ is repeated:

wic suforae @ o9 searr A "adq cal A" o SERn srn 3:

[Question ID = 9655]

1. Btimes / 8 arz

[Option ID = 38614]
2. 9times / Ya

[Option ID = 38615]
3. 5times / Sam

[Option ID = 38616]
4, 10 times / 10 arz

[Option ID = 38617]
Correct Answer :-
& 9times / 9=

[Option ID = 38615]

41) The Nasadiya Sukta is about:

SIIASRI b A & an Jf &:

[Question ID = 9656]
1. The female creation principle / afgen Bminr Brar

[Option ID = 38618)
2. Indra, the God of thunder / g5, ag @ 2am

[Option ID = 38619]
3. Questions of creation / Fite &t Faen @ @ & Yot

[Option ID = 38620]
4. The failure of two-substance theory / &1-uciel Brgia & Fwerm

[Option ID = 38621]

Correct Answer :-

o Questions of creation / gite &t Faen o @ & got
[Option ID = 38620]

42) According to Russell, numbers are:
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A D HoRAR, T &

[Question ID = 9657]

Logical fictions / nfdes asewan [Option 1D = 38622]
Ideal forms / amast =u [Option 1D = 38623]
Invented / anfdwaz [Option 1D = 38624]
Transcendental / wmdiiesas [Option |D = 38625]

b P =

Correct Answer :-
® |ogical fictions / mfdse asegen [Option 1D = 38622)

43) Who among the following belong to the tradition of communitarianism?

ferraifeiliaa 3 1 ool ‘erElAREGRE (FgerEaR) & o A FHdfta 37

[Question ID = 9658]

1. J. 5. Mill, John Rawls and Will Kymlicka / 5t w2t e, sifer dies, fe foeewm [Option 1D = 38626]

2. Charles Taylor, Mac Intyre, Michael Sandel / arcst 2e2, @@ socs3, e 3isa [Option 1D = 38627

3. Karl Marx, Antonio Gramsci and Louis Althusser / wief amasd, sicifaah speadl afiz elsa vegprz [Option ID = 38628
4, Edmund Burke, John Dewey and William James / vs#s aas, Sifer 3di afie faféresr Swar [Option ID = 38629]

Correct Answer ;-
e Charles Taylor, Mac Intyre, Michael Sandel / areat ez, #a soc1sd, smsasa Jsa [Option 1D = 38627]

44) Truth according to Hegel is:

E31cT D Ho[AR A -

[Question ID = 9659]
1. Static / Bez 2

[Option ID = 38630]
2. Progressively evolving / gl faasf3n & sa1
[Option ID = 38631]
3. To be understood through two valued logic / &t Hrewmer i @ #ers 3 JH=T &1 65 &

[Option ID = 38632)]
4, To be understood in terms of its utility / sxbl suelfEen o sizel 3 mwen o s &

[Option ID = 38633]

Correct Answer :-
e Progressively evolving / amror R a8t za &

[Option ID = 38631]

45) Which of the following tool is not used in postmodern research methodology?

foraat 3 3 @it A1 IuwoT Fez-neffors oremst gkt 3 Iuer ardl fReen sar 27
[Question ID = 9660]

Discourse / zmmaur  [Option 1D = 38634]

Ideology / faensma [Option ID = 38635]

Dialectics / ggas [Option ID = 38636]

Understanding / st [Option ID = 38637]

o b B =

Correct Answer :-
e |deology / Farzena [Option ID = 38635]

46) In the Divided Line in Plato’s Republic which of the following is true?

wiel @ fepama "smoreg” A Renfsma Yam 3 BeeifiiBaa A A oler 31 aca 2:

[Question ID = 9661]
1. Mathematical methodology is preferred / it ugfn o yefdaa &t oot &

[Option ID = 38638]
2. Methodology of reaching unhypothetical principle is preferred / amias Brgia de ugaa &1 ugh @ grefiesar df st 2

[Option ID = 38639]
3. Methodology of copying images is preferred / ofiel ot @it o & ught o el 3t ol &

[Option 1D = 38640]
4. Methodology of experimentation is preferred / it ot ugitt @ qrefirea dt ot 2

[Option ID = 38641]

Correct Answer :-
s Methodology of reaching unhypothetical principle is preferred / wsizs Bigia mo ugaal & ugh o yrificom 21 sodt 2
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[Option ID = 38639]

47) The methodology of logical paraphrase into an ideal language is

ues 3ol s 3 aifedes fRrazor &6 ughy o -

[Question ID = 9662]
1. Abandoned by Wittgenstein in Philosophical Investigations / fiseiiFwme sdfiealars i Resesesal gR1 el B sen

[Option ID = 38642]
2. Retained by Wittgenstein in Philosophical Investigations / Redssersal g fbelif3waser salReslors 3 aom 3z srn

[Option ID = 38643]
3. Retained with changes by Wittgenstein in Philosophical Investigations / fisenizifirser saf3catom 3 Mcsoscma grT ubkads @ Fwr geme 7xm s &

[Option 1D = 38644]
4. Used only when required by Wittgenstein in Philosophical Investigations / fisdif3ware sdfFealora i Riedondlal g araeer aia w2 & 3=t fpen soan 8

[Option ID = 38645]

Correct Answer ;-
e Abandoned by Wittgenstein in Philosophical Investigations / fibeiifdwaser safdeatorar 3 Ricdlarersat gt cener [&en arn

[Option ID = 38642]

48) According to Kant the notion of totality is:

@ic @ Aol JIEE (totality) &t emzom &:

[Question ID = 9663]

1. A form of inner sense / aicif¥s Aisraa an v amarz [Option 1D = 38646]
2. A form of outer sense / a1e1 snisrlcal a1 v aroi? [Option 1D = 38647

3. A pure concept / v g aamson [Option ID = 38648)

4. An empirical concept / ves aejasioe saeron [Option ID = 38649]

Correct Answer :-
® A pure concept / wp g amenaon [Option ID = 38648]

49) According to Leibnitz swoon and death are examples of:

ciisaforcsl @ 3ok detefl 3z Fry fewarfeiRan 3 3 fpa1 @1 JgEam &

[Question ID = 9664]

Clear and distinct representation / sue iz fifdme fsruu (representation) [Option 1D = 38650]
Confused representation / s fisuw [Option 1D = 38651]

Absence of all representation / il fsrsuor &) aeuidada [Option |D = 38652)
Empty representation / gfe= lsr=uvr [Option ID = 38653]

da bd R —

Correct Answer :-
e Confused representation / fa3e fér=uur [Option ID = 38651]

50) Hume's empiricism demands that all simple ideas are

& D fopHaare &6 #wier 2 o Al wva Rae 2

[Question ID = 9665]

1. Rational / gieusar (rational) [Option 1D = 38654]
2. Sensory / sdeancaias [Option ID = 38655]

3. Imaginary / wreufsrs [Option |D = 38656]

4, Structured / zzfém [Option ID = 38657]

Correct Answer :-

e Sensory / Jdgencaes [Option ID = 38655]
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